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U I I — Uy Uga Ugs I S R; R Ry Py H
Typ Vyrobce f f : : y ¢ ¢ l * Pozndmky Typ Patice
\% A v mA \% \Y% % mA mAV | kQ kQ Q W
1 2 3 4 5 6 7 8 9 10 11 ! 12 13 14 15 16 17 18 19
20D2 Brimar 4 0,15 250 2,5 3Y) 100 - 45 | 035) | 1000 - 300 - — | BS+osc;?) Ugp=—30 V3 %) S, 20D2 461
| X42 Marconi 4 0,6 250 2 - - - |17 66 — - — 110 X42
4THA Cossor 4 1,5 250 3,3 2 100 - 6,6 0,86 \ 600 140 - — | ES+osc; Uga=100 V; 4THA 462
B | 8,=0,85 mA/V; Jy=11 mA
- ‘ : L
20A1 Brimar 4 1,2 250 2,2 L5 | 80 - 3 065 | 750 | — 300 — — | ES+Hosc; ) Upp=—30V;2) S, 20A1
41STH Cossor 4 0,65 200 1 | 15 L S R0 R e - - — | BS+osc; Uy=60 V; 1) S, 41STH
202STH | Cossor 20 0,2 200 - L5 60 - - 069 |~ = - - — | BS+osc; Ugy=60 V; 1) S,; [y=9 mA | 202STH
203THA Cossor 20 0,3 250 — 2 - - — — 70,785 — ! — 180 _ _ 203THA
302THA | Cossor 30 0,2 250 - 2 f 100 — - 0,854 - - 180 — ~ | ESosc; Ugy—100 V; 1) S,; 302THA
) R Ii=11 mA
A36B Everready 4 | 15 250 3,5 2 150 - 7,5 0,75 | 2000 — — — — | 'BS; Ugpa=150 V; I;3=7,5mA; 1) S; | A36B
Ugee=11V
100 22 - — - - 6 - - _ _ — | ose
A36C Everready 4 1,45 250 3,25 2,5 100 - - 0,75 s = — — - 236G
C36C Everready 29 0,2 250 3,25 2,5 100 — — 0,75 — | 1500 - = _ G36C
TCH24 Dario 4 1,4 250 3 2 100 - 7 0,75Y) | 2000 — - - — | ESH+0;1) 8; Uy es=8V TCH24
TH4 Mullard 4 1 250 4 1,5 70 — 6 1t) 1500 _ . = T ESI Y Sy U, =12V THA
150 6 — - - - 1,2 - — _ - — | osc
TH4 “Tungsram 2 15 250 35 2 100 - TS| 07 | 1500 | — - - — | B8 S Uoer=12V TH4
TH13C Tungsram 13 1 250 4 1,5 70 - 6 14 1500 - - - — | ES; 1) 843 Uy =29 V THI13C
150 6 — — - - 1,2 - - - — — | oosc
TH29 Tungsram 29 1,5 250 3,5 2 100 - 75 0,751 | 1500 _ _ _ T ES: Y Sy Ugem12V TH2S
TX4 Mullard 4 1 300 5,5 1,5 80 - 6 1 1500 = — = ~ E8; Y s, X3
TX21 | Tungsram 21 1 70 2,5 21) 70 152) - 0,75%) 800 - - - — | BS; ) Ugp=—20V;2) Up 13 ®) S, TX21
150 5 - — — - 2 - - - - 13 osc
X23 Osram 2 0,3 150 0,7 1,5 60 — 1,7 0,251 | 1000 - — - | ES; ) S, U6V %23
100 2,1 - — — - - 20 - - - — | osc
X24 Osram 2 0,2 150 0,7 1,5 60 - 1,7 0,259 | 1000 - _ _ I ES; ) Sy Usge6V “X21
100 2,1 - - | - - - 20 — - - — | osc
X31 Osram 13 1,2 " 250 2,3 — 80 12Y) 8,8 0,64%) 750 - - - — [ ES; D Users ) S5 X31
2501) 2,2 — - - - - - 30 - — — | osc; ) Uy
X41C Osram 4 1,2 250 2,3 - 80 124 8,8 0,64%) 750 - - - — | ES; ) Uyeps ) S X41C
250%) 2,2 - — - - - - 30 - - — | ose; 1) U
X4l Osram 4 1,2 250 2,3 - 80 12 8,8 0,64%) 750 - - - = ES;) Users2) S X41
2501) 2,2 — - - - - ~ 30 ~ - — |oss ) Uy
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